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slovesa (infinitiv bez to). U he, she a it pfidavame
k zakladnimu tvaru -s.

My birthday is the twenty-seventh of June.
b Pouzivame je i pro vyjadieni pofadi.
b Pfitomny ¢as prosty pouZivame pro vyjadieni veci,

This is my fourth visit to England.
které se opakuji, a obecné platnych faktd. g J

We live on the second floor.
¢ 1 Uslov koncicich na -o pfidavame -es.

She goes to the sports centre every day. Pfelozte:

New Year's Day is the first of January.
November is the eleventh month of the year.
T
AEHRDS
sometimes

Never A/ )y

OBva /i€ a Prislovce ¢etnosti vyjadiuiji, jak Casto se néco déje.
Ptdme se na né pomoci vyrazu How often ...?7

2 U slov kon¢icich na -ch, -sh, -s, -x nebo -z
piidavame -es. (a vyslovujeme /1z/).
| 1 \

Pro vytvofeni zaporu v pfitomném case prostém
pouzivame don't / doesn't a zakladni tvar slovesa.

1.6 Prislovce cetnost -
= L‘)’J ,‘0

often

2 Pn'-itomnv cas prosty: zapor

always ¥ 2Dy
= usually / normally

| don'’t live in Britain. She doesn't like school.

| 1.3 Pritomny éas °5ty’: otazka \ How often do you go to the cinema?

Pro vytvoreni otdzky v pfitomném case prostéem
pouzivame do / does a zékladni tvar slovesa.

Do you go to bed late on Saturday?

V otazkéch s tdzacim vyrazem na wh- stoji tento vyraz
vzdy na zacatku. :

Where do you live? When does she do her homework?

1.4 Pritomny cas prosty: —\

kratké odpovédi

V kratké odpovéai heopakujeme vyznamove sloveso.
Pouzijeme pouze do / does v kladné odpovédi a don't /
doesn't v zaporné.

Do you play the violin?
Does he live on a farm?

Yes, | do. (NE Yes, | play.)
No, he doesn’t. (NE No, he
doesn’t live.)

b Prislovce ¢etnosti obvykle stoji ve vété pred slovesem.
lusually watch TV in the evening.

¢ Pokud je ve vété pomocné sloveso (napt. do,
don't), stoji pfislovce ¢etnosti mezi pormocnym a
vyznamovym slovesem.
| don't often go to the cinema.
What do you usually watch on TV?

d Prislovce cetnosti obvykle stoji za slovesem be.
It's always cold in winter.

Prelozte

| usually watch TV before | do my homework.
We don't often go to football matches.

How often do you go to pop concerts?

I'm usually not at home on Wednesdays.




.1 Pi'l'tomn cas prubéhovy:
kladny tvar \

| am
m

e are sleepin

You re readFi)n 9;3 magazine

They e ;

wearing jeans.

He is

She S
S

It

Pritomny cas priibéhovy uzivame pro déje probihajici
v okamziku promluvy.
Viimneéte si téchto pravidel pravopisu:
1 U veétsiny sloves pfidavame -ing.
go —going
2 U sloves, kterd kondi na -e, vynechame -e a
pridame -ing.
take - taking
3 Usloves, kterd konci na kratkou samohlasku a jednu
souhlasku, zdvojime koncovou souhlésku.
sit = sitting

rbéhovy: zépo

| 2.2 PFitomny ¢asp
Pro vytvofeni zéporu pfidame not za sloveso be.
You are not going shopping. (dlouhy tvar)

They aren’t taking the bus. (kréatky tvar)

2.3 Pritomny cas prubéhovy: otézk
a Votazce stojiam, is Hgbo ére pred podmétem.
He is taking a photo. Is he taking a photo?
b Votézkach s tézacim vyrazem na wh- umistime
tento vyraz vzdy na jeji zacatek.
When are you going shopping?
Why is he taking a photo?
What are they doing?

2.4 Pfitomny éas prabéhovy:

kratké odpovédi

5

V krétké odpovédi pouzijeme pouze sloveso be, BEZ
tvaru na -ing. Sloveso be je v plném tvaru.

Is she wearing her school uniform?

Yes, she is. (NE Yes, she is wearing. nebo Yes, she’.)

| 2.5 PFitomny ¢as pro;’r a prubéhov

I go to school every day.
lam going to school now.

Tony gets up at eight oclock every day. #
It is eight oclock now. Tony is getting up.

Prelozte
She waits for the bus every day.
She is waiting for the bus at the moment.

| 26 must________\

I
You
He
She must
It
We
They

go home now.

KdyzZ je nutné néco udélat, pouzijeme must.
U he/ she / it nepridavame ke slovesu -s.
Peter must do his homework.

Prelozte
You must clean your room.
My sister must buy some new clothes.

2.7 Osobni zajmena

v podmétu a predmétu

he 9% Y| him fermunw Mr//4f’

we  AMq | us mam | malqg

they ons
We love him.
He doesn't love us.
Prelozte
They see her on Saturdays.
She loves him.
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3.4 MinI)'r cas prot)’[ slovesa be:

Minul cas prosty slovesa be:

kladny tvar

l holid
He on holiday

was at school
She S ke St last week.
It 'J}b i yesterday.
We G Lo on Monday.
You were

out

They | fmbu

o e 3 5 -
Minuly ¢as prosty slovesa be pouzijeme, kdyZz mluvime
o ur¢itém déji v minulosti.

Prelozte

| was at home yesterday.
They were at the cinema on Thursday.

3.2 Minul cas prst)'r slovesa be:

zapor \
] holid
He was not S E' Ty
She wasn’t ai EE O(,) . last week.
It mekn & i&:I S yesterday.

v
: on Monday.

We were not in London y
L weren't out
They m,bém

v
Pro vytvoreni zaporu priddme za sloveso not. Zkraceny
tvar je wasn't / weren’t.
3.3 Minuly cas prosty slovesa be:
otazka

l here at five o'clock last week?
Was he at home yesterday evening?
she at the cinema on Friday?
it on TV yesterday?
we in England two years ago?
Were | you at home yesterday?
- they ill last week?
Why were you at home yesterday?

a Votazce stoji sloveso pred podmétem.
He was at home yesterday. Was he at home yesterday?

b V otazkach zacinajicich tdzacim vyrazem na wh- stoji
tento vyraz na zacatku vety.

kratkeé odpovedi
| !
he he :
was. wasn't.
she she
s L AL | o Lt /uj?/&
, we we
z
-4/"’-’ you were. A you weren't.
they . they
7 7
Prelozte

Were you at the cinema yesterday? Yes, | was.

Was he at school last week? No, he wasn't.

3.5 Minul;’r cas prosty, kladny tvar
pravidelna slovesa

| stayed in bed for three days.

He watched TV all day. It arrived four days ago.

We needed help last week. ~ They visited us after school.

a Minuly ¢as prosty pouzivame pro vyjadreni ¢cinnosti
a déju, které se staly v urcitém case v minulosti a
jsou nyni ukoncené.
Minuly ¢as prosty se ¢asto poji s vyrazy jako
yesterday, ago, on (+ den), in (+ mésic / rok), a at
(+ Cas).

b Pro vytvoreni minulého ¢asu prostého pridame
k zakladnimu tvaru slovesa -ed.

¢ Vsimnéte si téchto pravopisnych pravidel:

1 U sloves koncicich na -e pridavame -d.
We closed our books.

2 U sloves, kterd konci na kratkou samohlasku a
jednu souhlasku, zdvojime koncovou souhlésku
a pridame -ed.
They stopged the car. They rot(&d the bank. They
travelled to Spain.

3 U sloves, kterd konci na -y, odstranime -y a
pridame -ied.
He studied in London. | carried the bag.

4 Vsimnéte si pravidla pro vyslovnost:
Kdyz sloveso konci na -d nebo -t, koncovka -ed
se vyslovuje jako /1d/.

She needed an operation. | wanted a book.




.6 Minuly cas prst)'(: zapor _\

He

She g
did not
It oy have lunch yesterday.
didn't
We
You
They

Pro vytvoreni zéporu minulého ¢asu prostého
pravidelnych i nepravidelnych sloves pouzijeme did not
/ didn’t a zakladni tvar slovesa.

He went to school. He didn’t go to school.

Prelozte
Did you see your teacher on holiday? No, | didn't.
He didn't write the letter yesterday.

3.7 Minul cas proty, kladny tvar:

nepravidelna slovesa

I had a headache. She took my temperature.
You wrote a letter. We got some medicine.
He went to London. They drove home.

Mnoho sloves ma nepravidelné tvary, viz jejich seznam
na 2. strané obalky.

| 3.8 Minuly cas prosty: otazky Yes / No

I hurt him?

he drop the camera?
she cut her finger?
itring?

we play rugby?

you break your leg?
they have a headache?

Did

Did je minuly tvar slovesa do. Otazka v minulém ¢ase
prostém se tvoii: did + podmét + zakladni tvar slovesa.
She went to London. Did she go to London?

l 3.9 Minuly éas prost;’v: kratké odpové

| I

he he

she she =
Yes, | it did. | No, | it digut.

we we

you you

they they

V kratkych odpovédich se uZivé pouze did/didn't.

Did he play football yesterday?

Yes, he did. (NE Yes, he played.)

Did they go to Paris? #
No, they didn’t. (NE No, they didn't go.)

3.10 Minuly Easprost)'r:

otazky s vyrazy na wh-

5

|

a Votazkach s tézacimi vyrazy na wh- stoji tyto vyrazy
na zacatku.
When did you go to England? Why did you come home?
b Kdyz je tdzaci vyraz podmétem, pouZijeme
vyznamové sloveso v minulém case.
Who bought a new car? What happened to Mandy?

Prelozte

Did you go to London last year?
Did they play tennis yesterday?
When did she go to Paris?

[Shod

4.1 Pocitatelnaa epoéitatelné *\
podstatna jména

We need some bread.
How much do we need?

We need some tomatoes.
How many do we need?

a Nékterd podstatna jména jsou pocitatelnd. Mohou
byt v jednotném nebo mnozném Ccisle.

lots of onions
100 g of sausages

an apple
an onion

asausage
six apples

b Neékterd podstatnd jména jsou nepocitatelna.
Nevyjadfuiji protiklad jednotného a mnozného cisla.

some milk alot of rice a little butter

a potato
a hamburger

an apple
an egg

a A/an jsou neurcité cleny. Pokud nasledujici
podstatné jméno zacina souhlaskou, pouzijeme
a. Pokud zacind samohléaskou (nebo samohlédsku
vyslovujeme), pouzivame an.

b A/an neuzivdme u tvarl mnozného ¢isla a u
nepocitatelnych podstatnych jmen. (viz 4.3)

a
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Prelozte
You need a frying pan.
You need an egg.

| like apples.
There’s sugar in this tea.

| 4.3 some a any )

['ve got some books.

I haven't got any food.

Have you got any money?

a Some a any pouzivame u tvarli mnozného
Cisla pocitatelnych podstatnych jmen a u
nepocitatelnych podstatnych jmen.

some books some money

b Vkladné vété pouzijeme some.
V zaporné véteé a v otdzce pouzijeme any.

Is there any milk? There isn't any time.

4.4 How How many? —\

How many pouzijeme, ptame-li se na mnozstvi
pocitatelnych podstatnych jmen.

How many oranges have you got?

How much pouzijeme, ptame-li se na mnozstvi
nepocitatelnych podstatnych jmen.

How much cheese do you want?

Prelozte
How much milk do we need?
How many eggs do we need?

4.5 Urcity a neurcity clen

You need some oil and a frying pan.

Put the oil in the frying pan.

a Clen a/ an pouzivéme, uzijeme-li podstatné jméno
v jednotném cisle poprve.

b Clen the pouzivame, kdyz vime, o jaké véci nebo
osobé hovofime, nebo kdyz se o nich zmifujeme
podruhé.

¢ U véech podstatnych jmen, bez ohledu na
(ne)pocitatelnost, uzivame the.

theapple theonions the water

Prelozte
Slice the onions.
Put thie flour in the bowl.

4.6 Mnozstvi: alittle | a few -\

salt
T ROCHU| butter

carrots

a little
a few

|

Vyrazy allittle a a few pouzivame pro vyjadreni malého
mnozstvi. U nepocitatelnych podstatnych jmen
pouzivame a little a u mnozného ¢&isla pocitatelnych
jmen a few.

5 The world world *\

| 5.1 Otazkyshow L

is this
o street? It's 400 metres long.
g g is this It's 20 metres high.
How | high == e
ac building? | It's 2 kilometres
P is this deep.
ocean?

I've got a sandwich for lunch.

\

V otazkach na rozmeér uZijeme how a pfidavné jméno.
Totéz pridavné jméno stoji i v odpoveédi.

How long is this river? It's 500 kilometres long.

Prelozte

How wide is the Amazon?
How deep is the Atlantic Ocean?

5.2 Druhy stupen pridavnych jmen

Druhy stupen pfidavného jména pouzivame pro

porovnani dvou véci nebo osob. Nasleduje po ném

vyraz than.

Canada is larger than England.

a Druhy stupen jednoslabi¢nych pridavnych jmen se
vetsinou tvori zakoncenim -er.
small - smaller warm — warmer

b U pridavnych jmen, kterd kon¢i na -e, pridéame
pouze -r.
large - larger nice — nicer

¢ U pridavnych jmen, kterd kon¢i kratkou
samohlaskou a jednou souhldskou, zdvojime
koncovou souhlasku a pridame -er.

hot — hotter

d U pfidavnych jmen, kterd kon¢i na -y, zménime -y na
-i a pridame -er.

big - bigger

dirty - dirtier easy — easier

e U dvou- a viceslabi¢nych pfidavnych jmen (kromé
dvouslabi¢nych zakoncenych na -y) uzivdme more.

interesting — more interesting
f Nékteré tvary jsou nepravidelné.
far - further




Prelozte
Scotland is smaller than England.
I am taller than my best friend.

5.3 Treti stupen pridavnych jmen —\

small maky,”| smaller the smallest
nice/;m,((‘? 1 nicer the nicest

wet 7 wetter the wettest
heavyjl,‘;f/l(7 heavier the heaviest
modern more modern | the most modern
far M/ further the furthest

v
Treti stupen pridavnych jmen pouzivame pro porovnani
tfi a vice veci nebo osob. Pouzivéme zde the.
Mount Everest is the highest mountain in the world.
a Pro vytvoreni tretiho stupné pridavnych jmen
pouzivame the a -est.
b U dvou- a viceslabi¢nych pfidavnych jmen (kromé
dvouslabi¢nych zakoncenych na -y) uzivéame most.
c Zmény pravopisu plati i pro tieti stupen
pridavnych jmen.

T

SR =

big weth” | bigger #444%” | the biggest

hot 4 /| hotter the hottest

easydmady/ | easier the easiest
7
Prelozte

I'm the oldest student in my class.
What is the furthest planet from Earth?

| 5.4 Druhy a treti stupen od gooda bad 'Y

20

the best
the worst

good better
bad worse

Druhy a tieti stupen good a bad je nepravidelny.

Prelozte

| think football is better than basketball.
The worst subject is Maths.

Andy is the best student in our class.

FASY = SHADVY

5.5 Druha treti stpeﬁ vytvoreny —\

rative P€ i
gorgeous more gorgeous the most gorgeous
expensive more expensive the most expensive
intelligent | more intelligent | the most intelligent

Druhy stupen pfidavnych jmen, ktera maji vice nez
jednu slabiku, tvofime pomoci more, treti stupen
pomoci the most. Viyjimkou je, pokud je v zakonceni -y.

useful more useful the most useful
ALE happy happier the happiest
Prelozte

Geography is more difficult than Maths.
Who is the most intelligent person in the class?

| 5.6 as...as |

| as heavyaslead  as white as snow J

Spojeni as ... as pouzivame, chceme-li fici, ze jsou dvé
veci nebo osoby stejné.

Nékdy pouzivame as ... as v ustalenych spojenich.

as warm as toast asdry as a bone

Prelozte
My sister is as tall as me.
That building is as high as a mountain.

6 Entertainment |

| 6.1 going to: klanytvar —\

| am

m
He . 5

is visit Grandma next week.
She ; : 5
It S going to | have pizza for lunch.

buy a new CD tomorrow.

e are
You b
They

Pro vytvoreni vazby s going to pouzivdme be a going
to a zékladni tvar slovesa. MZzeme pouZit going to pro
vyjadieni toho, co jsme se rozhodli udélat v budoucnosti.

Prelozte :
I'm going to watch TV this evening.
They're going to have lunch in a restaurant tomorrow.

77
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| 6.2 goingto:zépor __

| am not
‘m not
e is not phone Tim.
She — = :
. isn't goingto | playin the garden.
play computer games.
We
are not
o aren't
They

\ 6.5 Pridavna jménaa pl"islovce

Prelozte

Is she going to play tennis tomorrow? Yes, she is.
Are they going to phone you this evening? No, they
aren't.

The car is slow. It moves slowly.
He was quiet. He spoke quietly.
She’s happy. She's singing happily.

Pro vytvoreni zaporu od going to pouzijeme zaporny
tvar slovesa be.

Prelozte
He isn't going to get up early tomorrow.
We aren't going to eat at home today.

| 6.3 going to: otazka \

Am |
he : -
see you this evening?
Is she ;
i e do today's homework?
e rain this afternoon?
g have a party?
Are you
they
What is she going to sing?

a Votazce s going to stoji sloveso be pfed podmétem.

Are they going to play football?

b V otazkach s tdzacimi vyrazy zacinajicimi wh- stoji
tyto vyrazy na zacatku véty.
What are you going to do this weekend?

Prelozte

Are you going to have a pizza?

What are you going to do on your birthday?

| 6.4 going to: kratké odpovédi
| am. I'm not.
we we
you are. you aren't.

Yes,” | they No, | they

he he
she is. she isn't.
it it

Pro vytvoieni kratké odpovédi pouzijte sloveso be, NE
going to.

a Pridavné jméno rozviji jméno podstatné — fikd, jaké :
néco je. }
He was a horrible man. |

b Prislovce rozviji sloveso - fika, jak néco délate.
She opened her eyes quickly.

¢ Prislovce tvofime pridanim -ly k pfidavnému jmeénu.
careful — carefully loud - loudly

d U pfidavnych jmen koncicich na -y zménime
v prislovci -y na -i.

happy - happily

e Tato pfislovce jsou nepravidelna:
fast — fast hard — hard

This is a fast car. The car travels fast.
He is a good driver. He drives well.
She is a hard worker. She works very hard.

easy — easily

good — well

Prelozte
She's careful. She does her homework very carefully.
It's a good robot. It works very well.

| 6.6 have to: kladny tvar —\

I

e have to
You get up early. ‘
They be very fit. ?
He stay outdoors.

She has to

It

Chceme-li ukazat, Ze je néco nezbytné, pouzijeme
have / has to a zékladni tvar slovesa.

Prelozte
You have to wait.
He has to wear a uniform at school.




| 6.7 have to: zapor —\

l ;

We do not

You don't get up early.

They haveto | be very fit.

He stay outdoors.
does not

She g

It doesn’t

|

a Kdyz néco neninezbytné, pouzivame don't have to /
doesn't have to.

b Pro vytvoreni zaporu piidéme pred have to tvar
don't / doesn't.

I have to get up early.
She has to work.

Idon’t have to get up early.
She doesn’t have to work.

Prelozte
We don't have to go to school on Saturdays.
He doesn't have to get up early.

6.8 have to: otazka _\

| 6.9 have to: kratké odpovédi )

[ l

we do. we don't.

you you s
Yes, | they No, | they

he he

she does. she doesn't.

it it

| 6.10 Tvoreni navrha

I
we
Do s wear a uniform?
travel a lot?
they | haveto
- do a lot of homework?
= sleep outdoors?
Does | she
it

When do they have to go to bed?

a Pro vytvoreni otézky s have to pouzijeme do / does,
have to a zakladni tvar slovesa.

bV otazce s vyrazy zacinajicimi wh- stoji na zac¢atku
Vvety tazaci vyraz.

Prelozte
Do you have to wear a uniform?
Does she have to get up early?

V kratkych odpovédich neopakujeme have to nebo
vyznamove sloveso. PouZijeme pouze do / does
v kladném tvaru a don't / doesn't v zaporu.

Yes, | do.
Yes, she does.

Do you have to travel a lot?
Does she have to work outdoors?

Prelozte
Do they have to wear a uniform? Yes, they do.
Does she have to do her homework? No, she doesn't.

Bk

1 Why don't we a zdkladniho tvaru slovesa.

a Navrhy tvofime pomoci:

Why don’t we play tennis?

2 let’s a zakladniho tvaru slovesa.
Let’s watch TV.

3 Shall we a zakladniho tvaru slovesa.
Shall we meet outside the sports centre?

b Ptédme-li se na ndvrh nékoho jiného, pouzijeme shall
a tazaci vyraz.

Where shall we meet?
¢ Pokud s ndvrhem souhlasite, mizete fict:
OK, that’s a good idea nebo All right.

Shall we go shopping? All right.
Why don't we go to the cinema? That’s a good idea.

Prelozte

Let's go swimming.

Why don't we have a pizza?
When shall we meet?




